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TEMEL MATEMATİK TESTİ

1) Bu test sizin matematik alanındaki becerilerinizi ölçmek için hazırlanmıştır.
2) Bu testte 40 soru bulunmaktadır.
3)Bu testteki soruların cevapları, cevap kâğıdının Temel Matematik Testi için ayrılmış olan kısmına    
işaretlenmelidir.
3) Bu testte istediğiniz sorudan cevaplamaya başlayabilirsiniz.
4) Bu testte cevaplarınızı işaretlerken cevapladığınız soru numarası ile cevap kağıdındaki Temel Matematik 
Testi alanındaki cevap numarasının aynı olmasına dikkat etmeniz gerekmektedir.

BASIC MATHS TEST
1) This test is prepared to measure your skills in Maths.
2) There are 40 questions in this test.
3) The answers to the questions in this test should be marked on the part of the Answer Sheet reserved for 
Basic Maths Test.
4) In this test, you can start responding at any question you want.
5) In this test, you should pay attention to the question number and the number in answer sheet in Basic 
Maths Test part to be the same.
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11..  

     7 7 1 4 1 1 ?
6 8 3 3 8 6

a+ − = ⇒ + − =  

 

A) a− 3 
B) a− 1 
C) a 
D) 2− a 
E) 3− a 

 
 

22..  

0,15

0,2 + 0,04
0,8

=? 

 
A) 0,2 
B) 0,3 
C) 0,6 
D) 0,7 
E) 0,9 

 
 

33..  

3𝑥𝑥𝑥𝑥 = 4  ⟹   9𝑥𝑥𝑥𝑥 − 3𝑥𝑥𝑥𝑥+1 =? 
 

A) 4 
B) 6 
C) 8 
D) 10 
E) 12 

 
 

44..  

𝐴𝐴𝐴𝐴 = �28 − 25 + 1   ⇒   �𝐴𝐴𝐴𝐴2 + 2𝐴𝐴𝐴𝐴 + 14 =? 

 
A) 16 
B) 15 
C) 8 
D) 6 
E) 4 

 

55. 

              0, | | | 3 6 | | ( 2) 4 | 21
?

x x
x
< − ⋅ − + − − =

⇒ =
 

 

A) −4 
B) −5 
C) −6 
D) −7 
E) −8 

 

66. 

𝑥𝑥𝑥𝑥2 − 2𝑥𝑥𝑥𝑥 − 3

(1
𝑥𝑥𝑥𝑥 + 1) ∙ (𝑥𝑥𝑥𝑥3− 1)

=? 

 
A) −2x2 
B) −x2 
C) x− 1 
D) x + 1 
E) 3x 

 
 

77..  

      
𝑎𝑎𝑎𝑎2  =  7𝑎𝑎𝑎𝑎 +  𝑏𝑏𝑏𝑏
 𝑏𝑏𝑏𝑏2  =  𝑎𝑎𝑎𝑎 +  7𝑏𝑏𝑏𝑏 

𝑎𝑎𝑎𝑎 ≠ 𝑏𝑏𝑏𝑏
� ⟹ √𝑎𝑎𝑎𝑎2 + 𝑏𝑏𝑏𝑏2  − 12  = ?   

 

A) 1 
B) 3 
C) 6 
D) 7 
E) 14 
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33..  
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A) 16 
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C) 8 
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55. 

              0, | | | 3 6 | | ( 2) 4 | 21
?

x x
x
< − ⋅ − + − − =

⇒ =
 

 

A) −4 
B) −5 
C) −6 
D) −7 
E) −8 

 

66. 

𝑥𝑥𝑥𝑥2 − 2𝑥𝑥𝑥𝑥 − 3

(1
𝑥𝑥𝑥𝑥 + 1) ∙ (𝑥𝑥𝑥𝑥3− 1)

=? 

 
A) −2x2 
B) −x2 
C) x− 1 
D) x + 1 
E) 3x 

 
 

77..  

      
𝑎𝑎𝑎𝑎2  =  7𝑎𝑎𝑎𝑎 +  𝑏𝑏𝑏𝑏
 𝑏𝑏𝑏𝑏2  =  𝑎𝑎𝑎𝑎 +  7𝑏𝑏𝑏𝑏 
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A) 1 
B) 3 
C) 6 
D) 7 
E) 14 

  

  

  

  

  

  

  

  

88..    

𝑎𝑎𝑎𝑎
5

=
𝑏𝑏𝑏𝑏 − 𝑎𝑎𝑎𝑎

4
=
𝑐𝑐𝑐𝑐 − 𝑏𝑏𝑏𝑏

6   
 

𝑎𝑎𝑎𝑎 + 𝑏𝑏𝑏𝑏 + 𝑐𝑐𝑐𝑐 = 58 ⎭
⎪
⎬

⎪
⎫

⟹ 𝑐𝑐𝑐𝑐 =? 

 

A) 30 

B) 18 

C) 10 

D) 5 

E) 2 

 
99. 

𝑎𝑎𝑎𝑎 +
4
𝑏𝑏𝑏𝑏

= 7
  
 

𝑏𝑏𝑏𝑏 +
4
𝑎𝑎𝑎𝑎

= 9⎭
⎪
⎬

⎪
⎫

⟹
𝑎𝑎𝑎𝑎
𝑏𝑏𝑏𝑏

=? 

 

A)
7
4
 

B)
4
7
 

C)
7
9
 

D)
9
7
 

E)
4
9
 

 

 

 

 

 

 

 

 

 

 

1100. 

3𝑥𝑥𝑥𝑥 + 12
𝑥𝑥𝑥𝑥 − 7

−
𝑥𝑥𝑥𝑥

𝑥𝑥𝑥𝑥 + 3
= 2−

14
7−𝑥𝑥𝑥𝑥

 

⇒ 𝑥𝑥𝑥𝑥 =? 

A) −18
11

 

B)     57
25

 

C) −22
13

 

D)     18
25

 

E) −12
19

 

  

1111..  

4𝑥𝑥𝑥𝑥+3𝑦𝑦𝑦𝑦 = �
1
8
�
−𝑦𝑦𝑦𝑦

272𝑥𝑥𝑥𝑥+𝑦𝑦𝑦𝑦 = �
1

81
�
3

⎭
⎬

⎫
⟹  2𝑥𝑥𝑥𝑥 ∙ 3𝑦𝑦𝑦𝑦 =? 

A)
1
72

 

B)
4
27

 

C)
8
9
 

D)
9
8
 

E)
27
4
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1122. 

             

1
5
1 ?
3
1
4

x y
xy

x z z
xz

y z
yz

+ = 


+ = ⇒ =


+ = 


  

A) 3 

B)
16
5

 

C)
85
12

 

D)
120
23

 

E) 6 

 

1133..    

50 kişinin bulunduğu bir otobüste, bir erkek 
yolcunun kendisi dışındaki diğer erkek 
yolcuların sayısı, kadın yolcuların sayısından 19 
fazladır. Buna göre, otobüste kaç tane kadın 
yolcu vardır? 

In a bus with 50 people, the number of male 
passengers other than one male passenger is 19 
more than the number of female passengers. 
Accordingly, how many female passengers are 
there on the bus?  

الذكوربوجد في الحافلة خمسون راكبا، عدد المسافرین
نفسھ أكثر من عدد المسافرات الاناث الراكبغیر

بتسعة عشر راكبا، بناء على ذلك كم عدد المسافرات 
الاناث الموجودات في الحافلة؟ 

 

A) 15 
B) 16 
C) 34 
D) 35 
E) 36 

 

 

 

 

 

 

1144.  

Bir bankanın farklı iki hesabında 2400 TL ve 
2000 TL para bulunmaktadır. Bu hesapların her 
birinden eşit miktarda dörder defa para 
çekilince geriye kalan paranın miktarları oranı 3 
oluyor. Buna göre her bir hesaptan bir seferde 
çekilen para kaç liradır?  

There are 2400 TL and 2000 TL in two different 
accounts of a bank. When an equal amount of 
money is withdrawn from each of these 
accounts four times, the ratio of the remaining 
money amounts to 3. Accordingly, how much 
money is withdrawn from each account at one 
time? 

لیرة ۲۰۰۰و ۲٤۰۰یوجد في رصید حسابین مختلفین للبنك 
التركیة، تم سحب مبلغ بمقدار مساوٍ أربع مرات لكل من ھذین 

لیرة تركیة، بناء على ما تقدم ما ۳الحسابین ویبقى في الرصید 
كل حساب؟مقدار المبلغ المسحوب في مرة واحدة من 

 

A) 150 
B) 250 
C) 450 
D) 750 
E) 900 

  

1155.  

⊕ 33  44  55  66  77  

33  15 19 23 27 X 

44  19 24 Y 34 39 

55  23 Y 35 Z 47 

66  27 34 Z 48 55 

77  X 39 47 55 63 
  

     X+Y+Z=? 

A) 69 
B) 79 
C) 89 
D) 99 
E) 101 
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1144.  

Bir bankanın farklı iki hesabında 2400 TL ve 
2000 TL para bulunmaktadır. Bu hesapların her 
birinden eşit miktarda dörder defa para 
çekilince geriye kalan paranın miktarları oranı 3 
oluyor. Buna göre her bir hesaptan bir seferde 
çekilen para kaç liradır?  

There are 2400 TL and 2000 TL in two different 
accounts of a bank. When an equal amount of 
money is withdrawn from each of these 
accounts four times, the ratio of the remaining 
money amounts to 3. Accordingly, how much 
money is withdrawn from each account at one 
time? 

لیرة ۲۰۰۰و ۲٤۰۰یوجد في رصید حسابین مختلفین للبنك 
التركیة، تم سحب مبلغ بمقدار مساوٍ أربع مرات لكل من ھذین 

لیرة تركیة، بناء على ما تقدم ما ۳الحسابین ویبقى في الرصید 
كل حساب؟مقدار المبلغ المسحوب في مرة واحدة من 

 

A) 150 
B) 250 
C) 450 
D) 750 
E) 900 

  

1155.  

⊕ 33  44  55  66  77  

33  15 19 23 27 X 

44  19 24 Y 34 39 

55  23 Y 35 Z 47 

66  27 34 Z 48 55 

77  X 39 47 55 63 
  

     X+Y+Z=? 

A) 69 
B) 79 
C) 89 
D) 99 
E) 101 

 

 

1166. 
 
    P(3x) = 9x2 + 3𝑥𝑥𝑥𝑥 + 1      ⟹     P (x)      x - 2 
   

 ? 
A) 8 
B) 7 
C) 6 
D) 5 
E) 4 

 

1177..  
  
P(x) = (x2 + 6x) ∙ (x2 + 6x − 2) − 35

 
𝑎𝑎𝑎𝑎 > 0, 𝑃𝑃𝑃𝑃(𝑎𝑎𝑎𝑎) = 0

� ⟹ 𝑎𝑎𝑎𝑎 =? 

 
A) 7  
B) 5 
C) 3 
D) 2 
E) 1 

 
  
1188..  

A ∗ B =  ( A ∪ B )  – ( A ∩ B ) 
 

⟹ ( A ∗ B )′ ∪  ( A ∩ B )′ = ? 
 

A) A ∩ B 
B) 𝐴𝐴𝐴𝐴 ∪ B 
C) 𝐸𝐸𝐸𝐸-A 
D) E − (A ∪ B) 
E) 𝐴𝐴𝐴𝐴′ 

 
 
1199..    
 

𝑥𝑥𝑥𝑥, 𝑘𝑘𝑘𝑘 ∈ 𝑁𝑁𝑁𝑁;  𝐴𝐴𝐴𝐴𝑥𝑥𝑥𝑥 = {𝑥𝑥𝑥𝑥 − 2, 𝑥𝑥𝑥𝑥 − 1,𝑥𝑥𝑥𝑥, 𝑥𝑥𝑥𝑥 + 1, 𝑥𝑥𝑥𝑥 + 2} 
 

⟹ 𝑛𝑛𝑛𝑛(𝐴𝐴𝐴𝐴𝑘𝑘𝑘𝑘 ∩ 𝐴𝐴𝐴𝐴𝑘𝑘𝑘𝑘 +1 ∩ 𝐴𝐴𝐴𝐴𝑘𝑘𝑘𝑘 +2) = ? 
    

A) 0 
B) 1 
C) 2 
D) 3 
E) 4 

 

2200..  
 

  f, g ve h birebir ve örten fonksiyonlardır. 
  f, g, and h are one-to-one and onto functions. 

f و g و h وظائف متساویة، ومشتملة

 
(𝑔𝑔𝑔𝑔−1𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜)(𝑎𝑎𝑎𝑎) = 𝑐𝑐𝑐𝑐

 
(𝑜𝑜𝑜𝑜−1𝑜𝑜𝑜𝑜ℎ) (𝑏𝑏𝑏𝑏) = 𝑎𝑎𝑎𝑎 

� ⟹ 𝑔𝑔𝑔𝑔(𝑐𝑐𝑐𝑐)  = ? 

 
 

A) 𝑎𝑎𝑎𝑎  
B) 𝑏𝑏𝑏𝑏  
C) 𝑐𝑐𝑐𝑐 
D) 𝑜𝑜𝑜𝑜(𝑏𝑏𝑏𝑏) 
E) ℎ(𝑏𝑏𝑏𝑏) 

 

 
 
 
2211..                                                                                    

 
𝑜𝑜𝑜𝑜  ( 𝑥𝑥𝑥𝑥 ) +  𝑔𝑔𝑔𝑔 ( 𝑥𝑥𝑥𝑥 )  = ? 

A) 2𝑥𝑥𝑥𝑥 + 4  
B) 𝑥𝑥𝑥𝑥 2 − 4𝑥𝑥𝑥𝑥 + 12  
C) 𝑥𝑥𝑥𝑥 2 − 6𝑥𝑥𝑥𝑥 + 8 
D) −2𝑥𝑥𝑥𝑥 + 4  
E) 𝑥𝑥𝑥𝑥 2 − 2𝑥𝑥𝑥𝑥 + 4 

 
 

 

 

 

 

 

 



6

Temel Matematik | Basic Maths |  الرياضيات الأساسية

G
AÜ

N
YÖ

S 
20

23
G

AÜ
N

YÖ
S 

20
23

2222..  

𝑜𝑜𝑜𝑜:ℝ →ℝ  

             𝑜𝑜𝑜𝑜(𝑥𝑥𝑥𝑥) = −2𝑥𝑥𝑥𝑥3 + 4𝑥𝑥𝑥𝑥2 − 2𝑥𝑥𝑥𝑥 + 1 

              ⟹ 𝑥𝑥𝑥𝑥3 ∙ 𝑜𝑜𝑜𝑜 �1
𝑥𝑥𝑥𝑥
� =?  

 

A) 𝑥𝑥𝑥𝑥3 − 2𝑥𝑥𝑥𝑥2 + 4𝑥𝑥𝑥𝑥 − 2 
B) 5𝑥𝑥𝑥𝑥3 − 𝑥𝑥𝑥𝑥2 + 2𝑥𝑥𝑥𝑥 − 3 
C) 2𝑥𝑥𝑥𝑥3 − 4𝑥𝑥𝑥𝑥2 + 1 
D) 2𝑥𝑥𝑥𝑥3 + 4𝑥𝑥𝑥𝑥2 − 1 
E) 𝑥𝑥𝑥𝑥3 − 2𝑥𝑥𝑥𝑥 

  
2233..  

      
A) 6 
B) 8  
C) 10  
D) 12  
E) 14 

 

  2244..    

𝑥𝑥𝑥𝑥 ∈ �0,
𝜋𝜋𝜋𝜋
2
� 

1
𝑐𝑐𝑐𝑐𝑜𝑜𝑜𝑜𝑐𝑐𝑐𝑐 𝑥𝑥𝑥𝑥

− 𝑐𝑐𝑐𝑐𝑠𝑠𝑠𝑠𝑛𝑛𝑛𝑛 𝑥𝑥𝑥𝑥 ⋅ 𝑡𝑡𝑡𝑡𝑎𝑎𝑎𝑎𝑎𝑎𝑎𝑎 𝑥𝑥𝑥𝑥 =? 
 

A)    𝑐𝑐𝑐𝑐𝑜𝑜𝑜𝑜𝑐𝑐𝑐𝑐 𝑥𝑥𝑥𝑥 
B) − 𝑐𝑐𝑐𝑐𝑠𝑠𝑠𝑠𝑛𝑛𝑛𝑛 𝑥𝑥𝑥𝑥 
C)     𝑐𝑐𝑐𝑐𝑠𝑠𝑠𝑠𝑛𝑛𝑛𝑛 𝑥𝑥𝑥𝑥 
D) −𝑐𝑐𝑐𝑐𝑜𝑜𝑜𝑜𝑐𝑐𝑐𝑐 𝑥𝑥𝑥𝑥 
E) − 𝑐𝑐𝑐𝑐𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜 𝑥𝑥𝑥𝑥 

 

 

 

2255..  

𝑜𝑜𝑜𝑜:ℝ → ℝ 
𝑜𝑜𝑜𝑜(𝑥𝑥𝑥𝑥) = 3𝑥𝑥𝑥𝑥 + 𝑎𝑎𝑎𝑎3 
𝑜𝑜𝑜𝑜(3) = 2 ⋅ 𝑜𝑜𝑜𝑜(2) + 1 
⇒ 𝑎𝑎𝑎𝑎 =? 

 

A) 1 
B) 2 
C) 3 
D) 4 
E) 5 

 

2266.  

 

A) 2 
B) 3 
C) 4 
D)5 
E) 6 

 

 

2277. 

𝑙𝑙𝑙𝑙𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑥𝑥𝑥𝑥 2 𝑥𝑥𝑥𝑥 = 2
𝑙𝑙𝑙𝑙𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑦𝑦𝑦𝑦 1 6 = 4� ⇒ 𝑙𝑙𝑙𝑙𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑥𝑥𝑥𝑥 𝑦𝑦𝑦𝑦 =? 

 
A) 1 
B) 2 
C) 4 
D)8 
E) 16 
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2288..  

    
[𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴] ∥ [𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸], [𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴] ∥ [𝐺𝐺𝐺𝐺𝐺𝐺𝐺𝐺], [𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶] ∥ [𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸] 
𝑚𝑚𝑚𝑚∠(𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴) = 𝑚𝑚𝑚𝑚∠(𝐶𝐶𝐶𝐶𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸) = 124∘ 
𝑚𝑚𝑚𝑚∠(𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐺𝐺𝐺𝐺) = 𝑥𝑥𝑥𝑥 ∘ ⇒ 𝑥𝑥𝑥𝑥 =? 
 
A) 112 
B) 56 
C) 124 
D) 68 
E) 44 

  

2299.  

  
𝑚𝑚𝑚𝑚∠(𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴) = 𝑚𝑚𝑚𝑚∠(𝐸𝐸𝐸𝐸𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴) 
[𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶] ⊥ [𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴] 
⇒ 𝑚𝑚𝑚𝑚∠(𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶) =? 

 

A) 82∘ 
B) 44∘ 
C) 22∘ 
D) 11∘ 
E) 12∘  

 

 

 

 

 

 

3300.  

  
[𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴] ∥ [𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶] ∥ [𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸]  

2 ∙ |𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶| = |𝐸𝐸𝐸𝐸𝐶𝐶𝐶𝐶|,   |𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴| = 9 𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏 

 ⟹ |𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴| = 𝑥𝑥𝑥𝑥 𝑏𝑏𝑏𝑏𝑏𝑏𝑏𝑏 

𝑥𝑥𝑥𝑥 =?  

A) 1  
B) 2  
C) 3     
D) 4   
E) 5  

3311..  

ABC, ADC ve BEC dik üçgendir. 

ABC, ADC, and BEC are right triangles. 

ABC وADC و BEC  مثلثات قائمة

 
     |𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴| = |𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶| = 10 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚, |𝐸𝐸𝐸𝐸𝐴𝐴𝐴𝐴| = 14 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚  

        𝐴𝐴𝐴𝐴(𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶) = 𝑥𝑥𝑥𝑥 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚2 ⟹ 𝑥𝑥𝑥𝑥 =?  
 

A) 20 
B) 24 
C) 30 
D) 36 
E) 64  
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3322.  

ABCD bir karedir.  

ABCD is a square. 

ABCD.ھو مربع  

         

𝐴𝐴𝐴𝐴(𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶) = 𝑥𝑥𝑥𝑥 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚2 ⟹ 𝑥𝑥𝑥𝑥 =? 

A) 32 
B) 34 
C) 36 
D) 38  
E) 40 

3333.  

ABCD bir karedir. 

ABCD is a square. 
 

ABCD.ھو مربع 

               

|𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶| = |𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴| 

𝑚𝑚𝑚𝑚∠(𝐴𝐴𝐴𝐴𝐸𝐸𝐸𝐸𝐴𝐴𝐴𝐴) = 𝑥𝑥𝑥𝑥 𝑜𝑜𝑜𝑜 ⟹ 𝑥𝑥𝑥𝑥 =? 

A) 15 
B) 22,5 
C) 30 
D) 45 
E) 60 

  

3344.  

  ABCD bir dikdörtgendir 

  ABCD is a rectangle.   

ABCD.ھو مستطیل

 
|𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶| = 2 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚, |𝐸𝐸𝐸𝐸𝐶𝐶𝐶𝐶| = 8 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚, |𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸| = 1 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚 

𝐴𝐴𝐴𝐴(𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶) = 𝑥𝑥𝑥𝑥 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚2 ⟹ 𝑥𝑥𝑥𝑥 =? 

A) 36 
B) 40 
C) 48 
D) 50 
E) 60 

  
3355.  

ABCD dikdörtgen, [𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶]𝑣𝑣𝑣𝑣𝑣𝑣𝑣𝑣 [𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶] köşegendir.   

ABCD is a rectangle, [DB] and [AC] are 
diagonals. 

ABCD مستطیل ، [DB] و [AC] قطرین

 
|𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶| = |𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸|, |𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸| = |𝐸𝐸𝐸𝐸𝐶𝐶𝐶𝐶| 

𝑚𝑚𝑚𝑚∠(𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶) = 𝑥𝑥𝑥𝑥 𝑜𝑜𝑜𝑜 ⟹ 𝑥𝑥𝑥𝑥 =? 

A) 36 
B) 40 
C) 44 
D) 48 
E) 54 
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3322.  

ABCD bir karedir.  

ABCD is a square. 

ABCD.ھو مربع  

         

𝐴𝐴𝐴𝐴(𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶) = 𝑥𝑥𝑥𝑥 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚2 ⟹ 𝑥𝑥𝑥𝑥 =? 

A) 32 
B) 34 
C) 36 
D) 38  
E) 40 

3333.  

ABCD bir karedir. 

ABCD is a square. 
 

ABCD.ھو مربع 

               

|𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶| = |𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴| 

𝑚𝑚𝑚𝑚∠(𝐴𝐴𝐴𝐴𝐸𝐸𝐸𝐸𝐴𝐴𝐴𝐴) = 𝑥𝑥𝑥𝑥 𝑜𝑜𝑜𝑜 ⟹ 𝑥𝑥𝑥𝑥 =? 

A) 15 
B) 22,5 
C) 30 
D) 45 
E) 60 

  

3344.  

  ABCD bir dikdörtgendir 

  ABCD is a rectangle.   

ABCD.ھو مستطیل

 
|𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶| = 2 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚, |𝐸𝐸𝐸𝐸𝐶𝐶𝐶𝐶| = 8 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚, |𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸| = 1 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚 

𝐴𝐴𝐴𝐴(𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶) = 𝑥𝑥𝑥𝑥 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚2 ⟹ 𝑥𝑥𝑥𝑥 =? 

A) 36 
B) 40 
C) 48 
D) 50 
E) 60 

  
3355.  

ABCD dikdörtgen, [𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶]𝑣𝑣𝑣𝑣𝑣𝑣𝑣𝑣 [𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶] köşegendir.   

ABCD is a rectangle, [DB] and [AC] are 
diagonals. 

ABCD مستطیل ، [DB] و [AC] قطرین

 
|𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶| = |𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸|, |𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸| = |𝐸𝐸𝐸𝐸𝐶𝐶𝐶𝐶| 

𝑚𝑚𝑚𝑚∠(𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶) = 𝑥𝑥𝑥𝑥 𝑜𝑜𝑜𝑜 ⟹ 𝑥𝑥𝑥𝑥 =? 

A) 36 
B) 40 
C) 44 
D) 48 
E) 54 

 

3366.  

ABCD parallel kenardır. 

ABCD is a parallelogram. 

 
ABCD.ھو متوازي أضلاع

 

 
|𝐴𝐴𝐴𝐴𝐸𝐸𝐸𝐸| = |𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴|, |𝐸𝐸𝐸𝐸𝐴𝐴𝐴𝐴| = |𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶|, 

  𝑚𝑚𝑚𝑚∠(𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶) = 𝑥𝑥𝑥𝑥 𝑜𝑜𝑜𝑜  ⟹  𝑥𝑥𝑥𝑥 =?  
 

A) 25 
B) 30 
C) 35 
D) 40 
E) 50 

  
3377.  

ABCD yamuktur. 

ABCD is trapezoidal. 

ABCD.ھو شبھ منحرف

 
 

|𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶| = 12 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚, |𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴| = 25 𝑐𝑐𝑐𝑐𝑚𝑚𝑚𝑚 

𝑚𝑚𝑚𝑚∠(𝐴𝐴𝐴𝐴𝐶𝐶𝐶𝐶𝐶𝐶𝐶𝐶) = 128𝑜𝑜𝑜𝑜, 𝑚𝑚𝑚𝑚∠(𝐶𝐶𝐶𝐶𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴) = 64𝑜𝑜𝑜𝑜 

|AD| = x cm ⟹ x = ? 

A) 10 
B) 12 
C) 13 
D) 14 
E) 15 

  

3388. 

ABCDEF düzgün altıgendir. 

ABCDEF is a regular hexagon. 

ABCDEF . سداسي منتظمھو 

  

2

| | | | | | | |
| | 6 ,

( ) ?

EG GF DH HC
GH cm
A AHGF x cm x

= = =
=

= ⇒ =

 

A) 4√3 
B) 7√2 
C) 8√3 
D) 11√2 
E) 11√3  

3399.  

 
[𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴] çaplı çember verilmiştir. Buna göre O 
merkezli çemberin yarıçapı kaç cm’dir? 

The circle with diameter [AB] is given. 
Accordingly, what is the radius (cm) of the 
circle with center O? 

الدائرة بقطر [AB].O ما نصف قطر الدائرة التي مركزھا

A) 6 
B) √13  
C) 10 
D) 2√3 
E) 15 
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4400.  

 

O merkezli dairenin alanı kaç cm2’dir? 

What is the area (cm2) of the circle with center O? 

كم مساحة دائرة مركزھا صفر؟

 

A) 2𝜋𝜋𝜋𝜋  
B) 3𝜋𝜋𝜋𝜋  
C) 4𝜋𝜋𝜋𝜋  
D) 9𝜋𝜋𝜋𝜋  
E) 3𝜋𝜋𝜋𝜋√3  
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GENEL YETENEK TESTİ
1) Bu test sizin soyut düşünme, akıl yürütme ve problem çözme alanlarındaki becerilerinizi ölçmek için 
hazırlanmıştır.
2) Bu testte 40 soru bulunmaktadır.
3) Bu testteki soruların cevapları, Cevap Kâğıdının Genel Yetenek Testi için ayrılmış olan kısmına 
işaretlenmelidir.
4) Bu testte istediğiniz sorudan cevaplamaya başlayabilirsiniz.
5) Bu testte cevaplarınızı işaretlerken cevapladığınız soru numarası ile cevap kağıdındaki Genel Yetenek 
Testi alanındaki cevap numarasının aynı olmasına dikkat etmeniz gerekmektedir.

GENERAL APTITUDE TEST
1) This test is prepared to measure your skills in abstract thinking, reasoning, and problem solving areas.
2) There are 40 questions in this test.
3) The answers to the questions in this test should be marked on the part of the Answer Sheet reserved 
for General Aptitude.
4) In this test, you can start responding at any question you want.
5) In this test, you should pay attention to the question number and the number in answer sheet in 
General Aptitude Test part to be the same.
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11.  

 

 

 

 

 

Şekilde kaç birim küp vardır? 

How many unit cubes are there in the figure?

؟الشكلفيالمكعباتعددكم

A) 40        
B) 50 
C) 60 
D) 70 
E) 80 

 

 

22.  

 

 

 

 

 

A) 1 
B) 5 
C) 20 
D) 25 
E) 64 

 

 

 

 

 

  

33. 

 

 

 

 

 
 
 

A) 24 
B) 27 
C) 29 
D) 30 
E) 33 

 

 

44..    

     Aşağıdakilerden hangisi diğerlerinden faklıdır? 

Which of the images is different from the others? 

 ختلف عن الصور الأخرى؟تأي من الصور المقدمة 
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11.  

 

 

 

 

 

Şekilde kaç birim küp vardır? 

How many unit cubes are there in the figure?

؟الشكلفيالمكعباتعددكم

A) 40        
B) 50 
C) 60 
D) 70 
E) 80 

 

 

22.  

 

 

 

 

 

A) 1 
B) 5 
C) 20 
D) 25 
E) 64 

 

 

 

 

 

  

33. 

 

 

 

 

 
 
 

A) 24 
B) 27 
C) 29 
D) 30 
E) 33 

 

 

44..    

     Aşağıdakilerden hangisi diğerlerinden faklıdır? 

Which of the images is different from the others? 

 ختلف عن الصور الأخرى؟تأي من الصور المقدمة 
 

 

 

 

 

    

 

 

 

 

 

 

 

 

55. 

 

 

 

A) 91347 
B) 41249 
C) 74483 
D) 71153 
E) 71643 

 

66..    

3 4 5
2 1 6
5 4 3
8 7 9
6 1 2

      

⎭
⎪
⎬

⎪
⎫

     

▲ ∗ □
○ ♦ 𝛯𝛯𝛯𝛯
𝛥𝛥𝛥𝛥 • 𝛻𝛻𝛻𝛻
□ ∗ ▲
𝛻𝛻𝛻𝛻 • 𝛥𝛥𝛥𝛥

 

     

879 =? 

A) ▲♦□        
B) ○ ♦𝛯𝛯𝛯𝛯         
C) 𝛥𝛥𝛥𝛥 • 𝛻𝛻𝛻𝛻         
D)  □ ∗▲          
E) 𝛻𝛻𝛻𝛻 •𝛥𝛥𝛥𝛥 

  

77..    

𝑇𝑇𝑇𝑇 𝐴𝐴𝐴𝐴 𝑆𝑆𝑆𝑆 𝐴𝐴𝐴𝐴
𝐾𝐾𝐾𝐾 𝐴𝐴𝐴𝐴 𝑇𝑇𝑇𝑇 𝐴𝐴𝐴𝐴
𝑆𝑆𝑆𝑆 𝐴𝐴𝐴𝐴 𝑁𝑁𝑁𝑁 𝐴𝐴𝐴𝐴
𝑆𝑆𝑆𝑆 𝐴𝐴𝐴𝐴 𝐾𝐾𝐾𝐾 𝐴𝐴𝐴𝐴
𝑇𝑇𝑇𝑇 𝐴𝐴𝐴𝐴 𝐾𝐾𝐾𝐾 𝐴𝐴𝐴𝐴

   

⎭
⎪
⎬

⎪
⎫

   

▲ 𝛥𝛥𝛥𝛥
○ 𝛻𝛻𝛻𝛻
▲ 𝛻𝛻𝛻𝛻
○ ▲
𝛻𝛻𝛻𝛻 ○

 

 

𝑇𝑇𝑇𝑇𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 =? 

A) ▲ 𝛥𝛥𝛥𝛥   
B) ○ 𝛻𝛻𝛻𝛻  
C) ▲ 𝛻𝛻𝛻𝛻   
D) ○▲  
E) 𝛻𝛻𝛻𝛻 ○  

 

 

88..    

 

 

                                                                2 ?c⇒ =  

11--   

  

 

A)   1
2
  

B)  1
√3

  

C)   1
6
 

D) 1
2√2

 

E) 1
3√2

  

 

99..    

 

 

 

A)                         B)                          C) 

 

 

      D)                           E) 
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1100..  

              
 
 
 
 

Terazinin denge durumunda olması için 
sağ kefeye   türü ağırlıktan kaç tane 
koymak gerekir? 

How many -type weights should be put on 
the right pan for the scale to be in balance?

وضعھایجبالتيالنوعمنالأوزانعددكم
توازن؟حالةفيالمیزانیكونحتىالیمنىالكفة على

 
A) 3 
B) 5 
C) 7 
D) 8 
E) 9 

  
1111..    

          

A) 

 

D) 
 

B) 

 

 
E) 

 

C) 

 

 

 

 

 

1122..    

          

A) 

 

B) 

 

C) 

 

D) 

 

E) 
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1133.  

 

 

 

 

 

𝒘𝒘𝒘𝒘 + 𝒚𝒚𝒚𝒚 + 𝒛𝒛𝒛𝒛 =?  

A) 12 
B) 15 
C) 18 
D) 29 
E) 32 

 

 

1144..    

 

A) 6 
B) 7 
C) 8 
D) 9 
E) 10 

 

 

 

 

 

 

 

 

1155..    

   

A)  

B)  

C)  

D)  

E)  

 

1166..  

      

Bir küpün açık ve kapalı halleri verilmiştir. 
A+B=10 olduğuna göre, C’nin alabileceği 
değerlerin çarpımı kaçtır? 

A cube, and cube net are given. If A+B=10  
what is the multiplication of the values satisfy C? 

 =أ+بأنبما، .للمكعبوالمغلقةالمفتوحةالحالاتإعطاءتم
؟تأخذھاأنیمكنالتي  Cالقیمةضربحاصلھوما۱۰

 

A) 2 
B) 5 
C) 10 
D) 15 
E) 24 
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1177..    

     
 

A) 

 

B) 

 

C) 

 

D) 

 

E) 

 
 

 

 

 

 

 

1188..    

   
 

A) 

 

B) 

 

C) 

 

D) 

 

E) 
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1177..    

     
 

A) 

 

B) 

 

C) 

 

D) 

 

E) 

 
 

 

 

 

 

 

1188..    

   
 

A) 

 

B) 

 

C) 

 

D) 

 

E) 

 

 

 

 

 

1199.  

�2 5 7 8
9 15 19 𝐺𝐺𝐺𝐺� 

 
⇒ 𝐺𝐺𝐺𝐺 =? 

A) 14 
B) 17 
C) 21 
D) 28 
E) 35 

 

2200..  

�
2 3 𝐴𝐴𝐴𝐴
𝐵𝐵𝐵𝐵 7 11
11 𝐶𝐶𝐶𝐶 23

� 

 
⇒ 𝐴𝐴𝐴𝐴+ 𝐵𝐵𝐵𝐵 + 𝐶𝐶𝐶𝐶 =? 

A) 20 
B) 22 
C) 23 
D) 25 
E) 32 

 

2211..  

       

451 25
371 28
535 30
623 18
246 ?

→
→
→
→
→

 

A) 16  
B) 20  
C) 24  
D) 28  
E) 32  

 
 
 
 
 
 
 
 

2222.  

 
 

 

A)  

B)  

C)  

D)  

E)  

 

2233..    

13        17      25       ?        37  

 

A) 29 
B) 30 
C) 31 
D) 32 
E) 33 

  

2244..  

                                                         

⎭
⎪
⎪
⎬

⎪
⎪
⎫

𝑥𝑥𝑥𝑥 =?   

 
 

A) 5 
B) 6 
C) 7 
D) 8 
E) 9 
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2255.  

  
 

 

A)  

 

B)  

 

C)  

 

D)  

 

E)  

 

 

2266. 

 

 

 

 

   

  

 

   

 

 

 

 

 

 

 

2277.  

 
 

 

 

A)  

 

B)  

 

C)  

 

D)  

 

E)  

 

 

2288.  

   

Örüntünün 6. adımında kaç tane üçgen 
vardır? 

How many triangles are there in the 6th 
step of the pattern? 

؟النمط  من السادسة   الخطوة  في  الموجودة  المثلثات  عدد  كم

A) 8 
B) 18 
C) 24 
D) 32 
E) 36 
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2299.  

 
 

 

A)            B)          C) 

 

D)              E) 
 

 

3300.  

 

 

 

 

 

 

 

Şekil I ve II, 7x7 tablonun farklı birer 
parçalarıdır. Her rakam bir harfi 
göstermektedir. Buna göre 1313=? 
 
Figures I and II are different parts of a 7x7 
table. Each number represents a letter. 
Accordingly, what is 1313=? 

۷جدولمنمختلفانجزءانوالثانيالأولالشكلان
1313لذلكوفقًا.حرفًایمثلرقمكل۷× ؟=

  

A) BABA 
B) BEBE 
C) DADA 
D) DEDE 
E) GAGA 

 
 
 
 
 
 
 

3311.  

Verilen düzlemdeki yapı birim küplerden 
oluşmaktadır. Bu yapıyı bozmadan büyük 
bir küp oluşturulmak istense en az kaç birim 
küp gerekir? 

The structure in the given plane consists of 
unit cubes. If a large cube is to be created 
without distorting this structure, how many 
cubes are at least needed? 

إذا.الوحداتمكعباتمنالمحددالمستوىفيالھیكلیتكون
عددھوفما،البنیةبھذهالإخلالدونكبیرمكعبإنشاءتم

الأقل؟علىالمطلوبةالمكعبات

 

 

 

 

 

 

A) 7 
B) 9 
C) 18 
D) 36 
E) 46 

 

 

 

 

 

 

 

 

 

 

 

 

2255.  

  
 

 

A)  

 

B)  

 

C)  

 

D)  

 

E)  

 

 

2266. 

 

 

 

 

   

  

 

   

 

 

 

 

 

 

 

2277.  

 
 

 

 

A)  

 

B)  

 

C)  

 

D)  

 

E)  

 

 

2288.  

   

Örüntünün 6. adımında kaç tane üçgen 
vardır? 

How many triangles are there in the 6th 
step of the pattern? 

؟النمط  من السادسة   الخطوة  في  الموجودة  المثلثات  عدد  كم

A) 8 
B) 18 
C) 24 
D) 32 
E) 36 
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3322.  

Verilen 5x5 tabloda 1 den 5 e kadar olan 
rakamlar her satırda ve her sütunda birer 
kez kullanılmıştır.  

In the 5x5 table, the numbers from 1 to 5 
are used once in each line and each column.  

إلى 1المحدد ، یتم استخدام الأرقام من 5× 5في الجدول 
 دة في كل صف وفي كل عمود. مرة واح5

 
 
 
 
 
 

𝐴𝐴𝐴𝐴 − 𝐵𝐵𝐵𝐵 + 𝐶𝐶𝐶𝐶=? 

A) 2 
B) 3 
C) 4 
D) 5 
E) 6 

 

3333..  

Şekilde verilen 6x6 sudokuda A+B=? 

In the 6x6 sudoku given in the figure, A+B=? 

+ أ،الشكلفيالموضحة٦×٦سودوكولعبةفي
؟=ب

 
 
 
 
 

 
 
 
A) 3 
B) 4 
C) 5 
D) 6 
E) 7 

 

 

 

3344. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
A) 25 
B) 28 
C) 43 
D) 55 
E) 62 

 

3355. 

 

 

 

 

 

 

 

 
A) 18 
B) 20 
C) 45 
D) 54 
E) 74 
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3366.  

Şeklin aynaya göre yansıması hangisidir?  

Which of the following is the mirror 
reflection of the given shape? 

الشكل الصحیح في حالة انعكاسھھوما
للمرآة؟

 

 

 

 
 

A)  

 

 

 

B)  

 

 

 

C)  

 

 

 
 

D)  

 

  

 
 

E)  

 

 

 

3377.       

 

A) 

 

B) 

 

C) 

 

D) 

 

E) 

 
 
3388. 

      

A) 2,1 
B) 2,4 
C) 3,2 
D) 4 
E) 5,1 

  



22

Genel Yetenek | General Aptitude |  المهارات العامة

G
AÜ

N
YÖ

S 
20

23
G

AÜ
N

YÖ
S 

20
23

3399.  
 

                          ⇒ 5  

 

                           ⇒ 32                                              ⇒ ? 

 

                             ⇒ 8 

 

A) 8 
B) 13 
C) 15 
D) 24 
E) 30 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4400.  

     

Verilen yapıdan kaç numaralı küp 
çıkarılırsa yapının sağdan görünümü 
değişmez?  

Which unit cube can be removed in the 
given shape and the right view of this shape 
does not change?  

المحدد،الھیكلمنلتھا إزاتمتإذاأي رقم من المكعبات 
؟من جھة الیمنىللھیكلالصحیحالمظھر یتغیرفلن

 

A) 1 
B) 2 
C) 3 
D) 4 
E) 5 

2 

28 

3 

  
1 




